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№ 364. 
Дано: Решение: 
FA=5GH 
рв= 1000 кг/м3 

ЯРв 
50 Н 

у- - 5 1 л 

9,8 м/с2-1000 кг/м3 

Ответ: 5,1 л. 

V—  ? 

ЯРв 
50 Н 

у- - 5 1 л 

9,8 м/с2-1000 кг/м3 

Ответ: 5,1 л. № 365. 
Дано: Решение: 
F a = 200 МН F 

gPB 

200-10* Н = 20400м3 

" 9,8 м/с • 1000 кг/м 
Ответ: 20400 м3. 

у —9 
* в 

F 
gPB 

200-10* Н = 20400м3 

" 9,8 м/с • 1000 кг/м 
Ответ: 20400 м3. 

№ 366. 
Дано: Решение: 
F B = 686 Н 
р в= 1000 кг/м3 

рм = 1030 кг/м3 

= F =bL./r 
р M B 

Pu Р, 
F _ , 0 3 0 к г / м 3 . 6 8 6 Н - 7 0 6 6Н 

Л , - ? * 1000 кг/м3 

Ответ: 706,6 Н. 
№ 367. 
Дано: Решение: 
V=  1 см3 

рм = 8900 кг/м3 

рж = 7800 кг/м3 

рст = 2500 кг/м3 

^ ~ т
м8 ~ m*g ~ g^iPr ~ Рв) 

Рм = 9,8 м/с2 • 10"6 м3 (8900 кг/м3 - 1000 кг/м3) = 
= 77,42 мН 
Рж = 9,8 м/с2 • 10-6 м3 (7800 кг/м3 - 1000 кг/м3) = 
= 66,64 мН 
/>ст = 9,8 м/с2 • Ю-6 м3 (2500 кг/м3 - 1000 кг/м3) = 14,7 мН 
Ответ: 77,42 мН, 66,64 мН, 14,7 мН. 

Р 9 
' м 
Р 9 
' ж 
р 9 
/ ст 

^ ~ т
м8 ~ m*g ~ g^iPr ~ Рв) 

Рм = 9,8 м/с2 • 10"6 м3 (8900 кг/м3 - 1000 кг/м3) = 
= 77,42 мН 
Рж = 9,8 м/с2 • 10-6 м3 (7800 кг/м3 - 1000 кг/м3) = 
= 66,64 мН 
/>ст = 9,8 м/с2 • Ю-6 м3 (2500 кг/м3 - 1000 кг/м3) = 14,7 мН 
Ответ: 77,42 мН, 66,64 мН, 14,7 мН. 

№ 368. 
Дано: Решение: 
К = 1200 см3 

Р = 3 Н 
Вес шара в воде: 
P,=P-F A= p-px-g-y 
Л = 3 Н - 1200 • Ю"6 м3 • 1000 кг/м3 • 9,8 м/с2 = 8,76 Н 
F\>P 
Ответ: Шар будет всплывать; 8,76 Н 

Вес шара в воде: 
P,=P-F A= p-px-g-y 
Л = 3 Н - 1200 • Ю"6 м3 • 1000 кг/м3 • 9,8 м/с2 = 8,76 Н 
F\>P 
Ответ: Шар будет всплывать; 8,76 Н 
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№ 421. 
Дано: Решение: 
t = 3 ч = 3 • 3600 с 
« - 15000 
Л=30Дж 

t t 
15000-30Дж „ 

N = = 41,7 кДж 
33600с 

Ответ: 41,7 кДж. 

jV — ? 

t t 
15000-30Дж „ 

N = = 41,7 кДж 
33600с 

Ответ: 41,7 кДж. 
№ 422. 
Дано: Решение: 
т = 140 кг 
h = 80 см = 0,8 м 
/ = 0,4 с 

дг _ А _ тФ 
t t 

„ 140 кг-9,8 Н/кг-0,8 м 
дг = = 2744 Вт 

0,4 с 
Ответ: 2744 Вт. 

/V — ? 

дг _ А _ тФ 
t t 

„ 140 кг-9,8 Н/кг-0,8 м 
дг = = 2744 Вт 

0,4 с 
Ответ: 2744 Вт. 

№ 423. 
Дано: Решение: 
А = 25м 

15 мин = 900 с 
т - 750 т — 
= 750 • 103 кг 

t t 
Х Т 750 • 103 кг • 9,8 Н/кг -25 м „ 
N = = 204 кВт 

900 с 
Ответ: 204 кВт. 

п — ? 

t t 
Х Т 750 • 103 кг • 9,8 Н/кг -25 м „ 
N = = 204 кВт 

900 с 
Ответ: 204 кВт. 

№ 424. 
Дано: Решение: 
и - 102 км/ч 
F = 3 0 0 H 

л/ А F S /г 
N = — = = F - о, 

t t 
и = 102 км/ч = 28,3 м/с 
N = 300 Н - 28,3 м/с = 8,5 кВт 
Ответ: 8,5 кВт. 

N~1 

л/ А F S /г 
N = — = = F - о, 

t t 
и = 102 км/ч = 28,3 м/с 
N = 300 Н - 28,3 м/с = 8,5 кВт 
Ответ: 8,5 кВт. № 425. 

Дано: Решение: 
Л^ 4200 кВт 

90 км/ч — 25 м/с 
м F S г /г N 

N = — = F F = — 
t и 

„ = 4200..0>ВТ = 1 6 8 к Н 

25 м/с 
Ответ: 168 кН. 

F —? 

м F S г /г N 

N = — = F F = — 
t и 

„ = 4200..0>ВТ = 1 6 8 к Н 

25 м/с 
Ответ: 168 кН. 















































































































































































































































































































































№ 1248. 
Дано: Решение: 

т = 9 кг 
700 м/с 

/ = 0,008 с 

г. г р = то - rt  г = 

^ = 9 К Г . 8 0 0 М / С = 9 0 0 к Н 

0,008 с 

Ответ: 900 кН. 

F—? 

г. г р = то - rt  г = 

^ = 9 К Г . 8 0 0 М / С = 9 0 0 к Н 

0,008 с 

Ответ: 900 кН. 

№ 1249. 
Дано: Решение: 

m = 58 т = 5000 кг 
^ = 108 км/ч = 30 м/с 
i>i = 36 км/ч = 10 м/с 
/ « 1 0 с 

_ 5000 кг -(3 0 м/с - 1 0 м/с) 1 Л • 
F  10 кН 

Юс 
Ответ: 10 кН. F — ? 

_ 5000 кг -(3 0 м/с - 1 0 м/с) 1 Л • 
F  10 кН 

Юс 
Ответ: 10 кН. 

№ 1250. 
Дано: Решение: 

и = 611,1 м/с 
m = 2 кг 
/ — 0,001 с 

1000 см2 = 0,1 м2 

V  к 

р - ? 
F—? Ft  = Др 

F 
Ft = иш, р = — 

/726> 2 КГ-61 1,1 м/с 
У7 = — = = 1222,2 кН 

t 0,001с 
F  1222,2 кН 

р = —= «12МПа 
5 0,1м2 

Ответ: 1222,2 кН; 12 МПа. 
№ 1251. 

а) = 2/? = = 2-0,1 кг-6 м/с = 1 ,2 К Г М 

I с 

б) | Е й | = +/>- />=о 
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